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2 kgms—=2 |1
2 59° 58m 2
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2 +10 | 4
2 7.9m/s | 5
2 +4.9m/s* | 6
30 2 +4.0 m/s
30 2 90m | 8 ¥
2 5.8m/s | 9
2 4.7m | 10
2 51° | 11
2 2.9m/s* | 12
2 18 m? | 13
2 0.51 | 14
2 v, = 10m/s,v, = 20m/s | 15
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1 C,=A,+B,
1 C, = (15X cos40) + (8.0 X cos210)
1 C,=+4.56m
6 C,=A,+B, 16
1 C, = (15 x sin40) + (8.0 x sin210)
1 C,=564m
. € =(€)? + (Cy)?
C =./(4.56)2 + (5.64)2
4 |1 C=73 m 17
1 0 = tan-1 (5. 64)
15 — " 456 ]
1 0 =51
5 /3.0
1 Vpoat = \/(vriv)z + (vD%]) 0 = sin 1 (ﬁ)
1 vp_y =/ (4.0)2 — (3.0)2 0 =48.6’
511 Vpoy = 2.64m/s 9 (L 18
v
85
1 t = 85 ¢ = cos(48.6")
2.64 = "20
1 t=32s t=32s
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a (t) ===
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1 Ay (;_39) = 8.0 m/s?
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6 | 2 x(t)=x0+f(8t—5)dt K Xp=Xit vit+at 20
to v;=5.0m/s S
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1 Vyo = 19.5m/s Vyo = 19.5m/s
; 1, _,(19.5
y=y0+vy0t—igt 00 = tan (W)
1 o
1 y—y0=vy0t—igt2 ‘ 0y = 68
10 1 3 (vo)? 22
1] o=[19.5x¢- [E X (9.81)t2] R= sin (20,)
1 t=4.0s =+/(8.0)2 + (19.5)2
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1 R =v,t vy =21.1m/s
21.1)?
1 R=8.0x4.0 = ( i
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1 F = [mgsin0 + (ugymgcos0) + malj 5
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